ooor 2. 000000d

000000 MODp00000p0000000000000 C™
000000 Ff 00007 0ROOOOOOOOOOOOOO0G :
F,—ROOOOOOO (), ()00000000 7,MO0000

) @ODO) 6(f+g)=0(f) +6(g), 0laf)=ab(f), acR

(i) @OOO0D0O0) 0(fg) =0(fglp) + f(p)i(g)
T,M000000000000

000 e00000MOC®0007: (—¢,¢) = MO ~(0)=p000
00000000000 feF 00000

t=0
0000X,07,MO0000000f0p0000+4000000000
00000p000000000 (24,--,2,)00000p0000 ;0

gooooo
)
, 1=1,---,n (1)
((933'1 P
goodoooo

ooo007,M0O00p000 C*O000000p00000000O0O
OoooooobooooooMOnO000000O0000T,M0O nO0
oboobobooMbOpubbOOobOOO0ObLOODOODOODOODO
0ooo0ooo (1)o.00000007T,MO000000O0O000C0O00OO

O0p0000000000O0 (py,-+-,y,) 000000000

(o), 2w (35),

00000000000

F,000 f00000(df),: T,M - RO0OeT,MO0000D00(f) € R
00000000000000000000000000f00 p000
00000000000000000000000000(df),=000
00D00p0 f000D0D0000000D0D000000OOD0

0 .
(axi)pf:(), i=1,---.,n

gbbobooaobood




